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NEW QUESTION 1

A network administrator is implementing a routing configuration change and enables routing debugs to track routing behavior during the change. The logging
output on the terminal is interrupting the command typing process. Which two actions can the network administrator take to minimize the possibility of typing

commands incorrectly? (Choose two.)

A. Configure the logging synchronous global configuration command

B. Configure the logging delimiter feature

C. Configure the logging synchronous command under the vty

D. Press the TAB key to reprint the command in a new line

E. increase the number of lines on the screen using the terminal length command

Answer: CD

NEW QUESTION 2
Refer to the exhibit.

R1# sh run | begin ine con
lina con o
excc-timeout O O
privilege level 15
Togyoing synechronmos
stopbits 1
line aux o
axac-timaout 00
privilege lovel 15
logging synchronouws
stopbils 1
line viy O 4
password 7 045802150C2E
loggin
lina viy 5 15
password 7 045802150C2E
: login
cnd
R1# sh run | include aaa | enable

no aaa new-model
R1#

Which privilege level is assigned to VTY users?

Cow>
= NP
g w

Answer: D

NEW QUESTION 3

An engineer is configuring local web authentication on a WLAN. The engineer chooses the Authentication radio button under the Layer 3 Security options for Web

Policy. Which device presents the web authentication for the WLAN?

A. ISE server

B. local WLC

C. RADIUS server
D. anchor WLC

Answer: B

NEW QUESTION 4
Refer to the exhibit.

Assuming that R is a CE router, which VRF is assigned to Gi0/0 on R1?

A. VRF VPN_B
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B. Default VRF
C. Management VRF
D. VRF VPN_A

Answer: D

NEW QUESTION 5
When configuration WPA2 Enterprise on a WLAN, which additional security component configuration is required?

A. NTP server
B. PKI server
C. RADIUS server
D. TACACS server

Answer: C

NEW QUESTION 6

If a VRRP master router fails, which router is selected as the new master router?
A. router with the highest priority

B. router with the highest loopback address

C. router with the lowest loopback address

D. router with the lowest priority

Answer: A

NEW QUESTION 7

Which protocol does REST API rely on to secure the communication channel?
A. TCP

B. HTTPS

C. SSH

D. HTTP

Answer: B

NEW QUESTION 8

Which HHTP status code is the correct response for a request with an incorrect password applied to a REST API session?

A. HTTP Status Code 200
B. HTTP Status Code 302
C. HTTP Status Code 401
D. HTTP Status Code: 504

Answer: C

NEW QUESTION 9
The login method is configured on the VTY lines of a router with these parameters.

> The first method for authentication is TACACS

> If TACACS is unavailable, login is allowed without any provided credentials
Which configuration accomplishes this task?

Ri#sh run | include aaa

azsa new- model

Aaa authentication login WVTY group tacacs+ none
Aza session-id commaon

fi1z=h run | section vty
line vty 0 4
password [ 020500480808

Hi1Zsh run | inglude username
R1z

= R1#sh run | include aaa
aaa new maodel
aaa authentication login default group tacacs+
AAa session-id comman

Ri1=sh run | section vy
line vty O 4

Rz

F1#sh run | include aaa

aaa new-maodel

aaa suthentication login default group tacacs+ none
aaa session-id common

Rimah run | section vy

line why O 4
passward T osismasnsng
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R1#sh run | include aaa

aaa neww model

Aaaa authentication login telnet group tAcacs+ None
AFA Sessinn-id comman

R1z=h run | section vy

lirve: wiy 0 4

H1zZsh run | include username
H1£e

A. Option A
B. Option B
C. Option C
D. Option D

Answer: C

NEW QUESTION 10
Which statement explains why Type 1 hypervisor is considered more efficient than Type 2 hypervisor?

A. Type 1 hypervisor runs directly on the physical hardware of the host machine without relying on the underlying OS.

B. Type 1 hypervisor enables other operating systems to run on it.

C. Type 1 hypervisor relics on the existing OS of the host machine to access CPU, memory, storage, andnetwork resources.
D. Type 1 hypervisor is the only type of hypervisor that supports hardware acceleration techniques.

Answer: A

NEW QUESTION 10
Which method creates an EEM applet policy that is registered with EEM and runs on demand or manually?

A. event manager applet ondemand event registeraction 1.0 syslog priority critical msg ‘This is a message from ondemand'
B. event manager applet ondemand event manualaction 1.0 syslog priority critical msg 'This is a message from ondemand’
C. event manager applet ondemand event noneaction 1.0 syslog priority critical msg 'This is a message from ondemand'
D. event manager applet ondemandaction 1.0 syslog priority critical msg 'This is a message from ondemand'

Answer: C

NEW QUESTION 12

Which method does the enable secret password option use to encrypt device passwords?
A. AES

B. CHAP

C. PAP

D. MD5

Answer: D

NEW QUESTION 17
Refer to exhibit.

=/ = =

SW SW2 SwW3

VLANSs 50 and 60 exist on the trunk links between all switches All access ports on SW3 are configured for VLAN 50 and SW1 is the VTP server Which command
ensures that SW3 receives frames only from VLAN 50?

A. SW1 (config)#vtp pruning

B. SW3(config)#vtp mode transparent
C. SW2(config)=vtp pruning

D. SW1 (config >»vtp mode transparent

Answer: A

NEW QUESTION 19

A response code of 404 is received while using the REST API on Cisco UNA Center to POST to this URI.
/dna/intent/api/vl /template-programmer/project

What does the code mean?

A. The client made a request a resource that does not exist.

B. The server has not implemented the functionality that is needed to fulfill the request.

C. The request accepted for processing, but the processing was not completed.

D. The POST/PUT request was fulfilled and a new resource was created, Information about the resource is in the response body.

Answer: A

NEW QUESTION 24
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What is a benefit of deploying an on-premises infrastructure versus a cloud infrastructure deployment?

A. faster deployment times because additional infrastructure does not need to be purchased
B. lower latency between systems that are physically located near each other

C. less power and cooling resources needed to run infrastructure on-premises

D. ability to quickly increase compute power without the need to install additional hardware

Answer: B

NEW QUESTION 25
What is a benefit of data modeling languages like YANG?

A. They enable programmers to change or write their own application within the device operating system.
B. They create more secure and efficient SNMP OIDs.

C. They make the CLI simpler and more efficient.

D. They provide a standardized data structure, which results in configuration scalability and consistency.

Answer: D

NEW QUESTION 28
Which TCP setting is tuned to minimize the risk of fragmentation on a GRE/IP tunnel?

A. MTU
B. Window size
C. MRU
D. MSS

Answer: D

NEW QUESTION 32
Which statement about an RSPAN session configuration is true?

A. A fitter mutt be configured for RSPAN Regions

B. Only one session can be configured at a time

C. A special VLAN type must be used as the RSPAN destination.
D. Only incoming traffic can be monitored

Answer: C

NEW QUESTION 35

A local router shows an EBGP neighbor in the Active state. Which statement is true about the local router?
A. The local router has active prefix in the forwarding table from the neighboring router

B. The local router has BGP passive mode configured for the neighboring router

C. The local router is attempting to open a TCP session with the neighboring router.

D. The local router is receiving prefixes from the neighboring router and adding them in RIB-IN

Answer: C

NEW QUESTION 40
Refer to the exhibit.

GO/0 Linkl GO0/0O
G0/ Link2 GO/l
EWZ#show spanning-tres
b M
Spanning tree enabled procoool ieees
Eoot ID FELAQEAEY Z2TEP
Address 5 ¥ S
Co=tT 4
P Gigak E
Hello ITime 2 =mec fax Age 20 mec Forward Dela 1S aso
Brzdge= ID Priority 327TED pricrity 32768 my=s—-id-ext 1)
A 5 =
Hells Time 2 mas imx Ahge 2 - Forward Dela 15 =ac
Aging Time 3 e
Incerfacs Bole Zts Cost Prioc.Hbobr Type
G310, 0 Root FHD 4  A1Z8.1 PFZp
Gid A =T ) =

Link1 is a copper connection and Link2 is a fiber connection. The fiber port must be the primary port for all forwarding. The output of the show spanning-tree
command on SW2 shows that the fiber port is blocked by spanning tree. An engineer enters the spanning- tree port-priority 32 command on GO/1 on SW2, but the

port remains blocked. Which command should be entered on the ports that are connected to Link2 to resolve the issue?
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A. Enter spanning-tree port-priority 32 on SW1.
B. Enter spanning-tree port-priority 224 on SW1.
C. Enter spanning-tree port-priority 4 on SW2.
D. Enter spanning-tree port-priority 64 on SW2.

Answer: A

NEW QUESTION 43

Which First Hop Redundancy Protocol maximizes uplink utilization and minimizes the amount of configuration that is necessary?

A. GLBP
B. HSRP v2
C. VRRP
D. HSRP v1

Answer: A

NEW QUESTION 45

What do Cisco DNA southbound APIs provide?

A. Interface between the controller and the network devices
B. NETCONF API interface for orchestration communication
C. RESful API interface for orchestrator communication

D. Interface between the controller and the consumer
Answer: A

NEW QUESTION 49
Refer to the exhibit.

= Baclk

Chont roportios ALY Yropaoertes

Apply

Link Test

ImipeETE nred

ok Srrpdemented

Rarriase

The WLC administrator sees that the controller to which a roaming client associates has Mobility Role Anchor configured under Clients > Detail. Which type of

roaming is supported?
A. Indirect

B. Layer 3 intercontroller
C. Layer 2 intercontroller
D. Intracontroller

Answer: B

NEW QUESTION 53

A customer has several small branches and wants to deploy a WI-FI solution with local management using CAPWAP. Which deployment model meets this

requirement?

A. Autonomous

B. Mobility Express

C. SD-Access wireless
D. Local mode

Answer: B

NEW QUESTION 54
Refer to this output. What is the logging severity level?

R1#Feb 14 37:15:12:429: %LINEPROTO-5-UPDOWN Line protocol on interface GigabitEthernet0/1. Change state to up

A. Notification
B. Alert
C. Critical
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D. Emergency

Answer: A

NEW QUESTION 59

Which feature must be configured to allow packet capture over Layer 3 infrastructure'?
A. VSPAN

B. IPSPAN

C. RSPAN

D. ERSPAN

Answer: D

NEW QUESTION 60

What is the difference between the enable password and the enable secret password when service password encryption is enable on an 10S device?

A. The enable password is encrypted with a stronger encryption method.

B. There is no difference and both passwords are encrypted identically.

C. The enable password cannot be decrypted.

D. The enable secret password is protected via stronger cryptography mechanisms.

Answer: D

NEW QUESTION 63
Refer to the exhibit.

IHH.__.-f'- A51 -\"\K I.-.. i ASE \

& '\\. J e 1.
/ E__ "|I | ot |
LS Fﬁg Fa0/0 | 192.168.10.0/24 | Fa0/0 %Ln_u_l:: |
lll'.. ‘—: -1 }ll[ .l. 2 c"‘? ;

."I E R‘l .I"l I".I‘ RE r‘-Eh-:’ .-"

XHH .{/ . - 3

/

‘l'f
|
|
|

Which configuration establishes EBGP neighborship between these two directly connected neighbors and exchanges the loopback network of the two routers

through BGP?
A)

R1(config)¥router bgp 1
R1(config router)neighbor 192.168.10.2 remote-as 2
R1(config router)™network 10.1.1.0 mask 255.255.255.0

R2(configyfrouter bgp 2
R2(config router)Tnelghbor 192.168.10.1 remote-as 1
RZ(config-router )network 10.2.2.0 mask 255.255.255.0

B)

R1(conhg ¥router bgp 1
R1{config-routcr J#neighbor 10.2.2.2 remote-as 2
R1(config-router )#network 10.1.1.0 mask 266.266.266.0

R2(config)¥router bgp 2
R2(config router)¥neighbor 10.1.1.1 remote-as 1
R2(config router)fmetwork 10.2.2.0 mask 255.255.255.0

C)

R1(conhg )=router bgp 1
R1(conhg-router JZneighbor 192.168.10.2 remote-as 2
R1(conhg-router =network 10.0.0.0 mask 255.0.0.0

R2Z(conhg)=router bgp 2

RZ(conhg-routcr J¥neighbor 192.168.10.1 remote-as 1
R2Z(config-router #network 10.0.0.0 mask 266.0.0.0

D)
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R1(config)router bgp 1

R1(config router) neighbor 10.2.2.2 remote-as 2
R1(config router)Tneighbor 10.2.2.2 update-source 100
R1(config-router rnetwork 10.1.1.0 mask 255.255.255.0

RZ2(config)=router bgp 2

RZ(conhg-router =neighbor 10.1.1.1 remote-as 1
RZ2(conhg-router Jneighbor 10.1.1.1 update-source lo0
R2(conhg-router =network 10.2.2.0 mask 2566.25656.265.0

A. Option A
B. Option B
C. Option C
D. Option D

Answer: A

NEW QUESTION 64
Refer to the exhibit.

Fxlended 1P acoeess sl FGRESS
10 permit ip 10.1.100.0 0.0.0.25510.1.2.0 0.0.0.255
20 deny ip any any

An engineer must modify the access control list EGRESS to allow all IP traffic from subnet 10.1.10.0/24 to 10.1.2.0/24. The access control list is applied in the
outbound direction on router interface GigabitEthemet 0/1. Which configuration commands can the engineer use to allow this traffic without disrupting existing

traffic flows?

A)
configt
ip access-list extended EGRESS
permitip 10.1.10.0 255.255.255.0 10.1.2.0 2535.2585.2535.0
B)
config t
ip access-list extended EGRESS
S permitip 10.1.10.0 0.0.0.25656 10.1.2.0 0.0.0.266
C)
config t
ip access-list extended EGRESS2
permit ip 10.1.10.0 0.0.0.255 10.1.2.0 0.0.0.255
permit ip 10.1.100.0 0.0.0.2585 10.1.2.0 0.0.0.255
deny ip any any
interface g0/1
Nno ip access-group EGRESS out
ip access-group EGRESS2 out
D)
config t
ip access-list extended EGRESS
permit ip 10.1.10.0 0.0.0.255 10.1.2.0 0.0.0.253
A. Option A
B. Option B
C. Option C
D. Option D
Answer: B

NEW QUESTION 66
Which method displays text directly into the active console with a synchronous EEM applet policy?

A. event manager applet boom event syslog pattern 'UP'action 1.0 gets 'logging directly to console'

B. event manager applet boom event syslog pattern 'UP'action 1.0 syslog priority direct msg 'log directly to console'
C. event manager applet boom event syslog pattern ‘UP'action 1.0 puts 'logging directly to console’

D. event manager applet boom event syslog pattern 'UP'action 1.0 string 'logging directly to console'

Answer: B
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NEW QUESTION 69

What is the correct EBGP path attribute list, ordered from most preferred to the least preferred, that the BGP best-path algorithm uses?

A. weigh

B. AS path, local preferenc

C. MED

D. weight, local preference AS path, MED
E. local preference weight AS path, MED
F. local preference, weight MED, AS path

Answer: B

NEW QUESTION 70
Refer to the exhibit.

SwitchClahow vip atatus
VIP Version 2
Configuration Revisian 0
Maximmss VIANs supporzed locally : 255
Humker of sxiscing VLAMa a
VIP Operating Mcode Tzanspazrent
VIP Domain Wame cisco.com
TIP Pruning Mode Disabled
VIFP V2 Hoda Disabled
VIiP Traps Generation Dizabled
MDS digest OxES Ox2E O0x50D Ox3E OxiF OxES OxAD OxIB
Configuration last modified by 0.0.0.0 at 1-10-15 05:-01:38
SwitchCé#show wvlan brief
VIAN Ma=a Etatus Farts
1 defaulc aActive FaDys3, FalOss, FaOss5, Fad/se
Tal/7, Fals/8, Fals/8, Fal/i0
FaOs11, Fags13, EaD/s13, Fals:
1 FaO/15, Fa0/16é, Fal/s17, Fad/s1
Fadrs1ls, Fad/20, Fald/21, Fadrs2
Fads/23, Fads2a, Fal
110 Finance active
210 HR active Fad/1
1210 Salers active raC/fa
[...output cmitted...]
SwitchC#ahow int trunk
Portc Mode Encap=zulation Status MNative vlan
|52gi/1 on gd02.1lg crunking i
Cigl/a on €03.1q trunking i
Fort Vians allowed on trunk
Gigl/l 1-1005
Gigl/a 4a~-1008
Part Vians allowed and active in managemant damsan
Gigl/l 1,110,210,310
Figl/2 1,110,210,310
I?rrt Vians in gpanning tree Iforwarding state and not pruned
Zigl/l 1,110,2310,310
Cigl/2 1,110,.210,.310
SwitchClahow m™an interlface port-channel 1
interface Port-channel 1
desacription Uplink to Core
awitchport mode trunk

SwitchC connects HR and Sales to the Core switch However, business needs require that no traffic from the Finance VLAN traverse this switch Which command

meets this requirement?
A)

SwilchCl(conhg =vtp pruning

B)

SwitchC(conhg )=vtp pruning vian 110
C)

SwitchC(config#interface port-channel 1

SwilchClconhig-if #switchport trunk allowed vian add 210,310

D)
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A. Option A
B. Option B
C. Option C
D. Option D

Answer: D

NEW QUESTION 74

Which two descriptions of FlexConnect mode for Cisco APs are true? (Choose two.)

A. APs that operate in FlexConnect mode cannot detect rogue Aps.

B. FlexConnect mode is used when the APs are set up in a mesh environment and used to bridge between each other.

SwitchC(config)#interface port-channel 1
SwitchC(config-if#switchport trunk allowed vian remove 110

C. FlexConnect mode is a feature that is designed to allow specified CAPWAP-enabled APs to exclude themselves from managing data traffic between clients and

infrastructure.

D. When connected to the controller, FlexConnect APs can tunnel traffic back to the controller.
E. FlexConnect mode is a wireless solution for branch office and remote office deployments.

Answer: CD

NEW QUESTION 78
Refer to the exhibit.

Acceaa-liat 1 pearmit 140.1.1.0 O.0.0. 31
ip ARAT poal CIisco 09, 165 . 200.1 209%9.165.201.30 nartmask 25% 255 X85 X4
ip NAT inslida SO0Urca list L poocl CL3CO

What are two effect of this configuration? (Choose two.)

A. Inside source addresses are translated to the 209.165.201.0/27 subnet.
B. It establishes a one-to-one NAT translation.
C. The 10.1.1.0/27 subnet is assigned as the inside global address range.

D. The 209.165.201.0/27 subnet is assigned as the outside local address range.

E. The 10.1.1.0/27 subnet is assigned as the inside local addresses.
Answer: AE

NEW QUESTION 80

Which requirement for an Ansible-managed node is true?

A. It must be a Linux server or a Cisco device.

B. It must have an SSH server running.

C. It must support ad hoc commands.

D. It must have an Ansible Tower installed.

Answer: A

NEW QUESTION 84

An engineer configures a WLAN with fast transition enabled Some legacy clients fail to connect to this WLAN Which feature allows the legacy clients to connect

while still allowing other clients to use fast transition based on then OLTIs?

A. over the DS
B. adaptive R
C. 802.11VvV

D. 802.11k

Answer: B

NEW QUESTION 86

What is the difference between a RIB and a FIB?

A. The RIB is used to make IP source prefix-based switching decisions
B. The FIB is where all IP routing information is stored

C. The RIB maintains a mirror image of the FIB

D. The FIB is populated based on RIB content

Answer: D

NEW QUESTION 89
Refer to the exhibit.
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Ri1#show ip bap
BGP lable varsion 1s 32, local routar 1L s 182 1688 101 .5
Status codes. S supprassad, d dampad, h history, = valid, = bast, 1 - internal
r RIB-faillure, 5 Stale, m mullipath, b backup-path, f RT-Filter
x best-external, a additional-path, ¢ RIB-compressed,
Ongin codes: i - IGP, e - EGP, ? - incomplete
RPKI validation codes: VW valid, | invalid, M Not found
MNetwork Mext Hop Metric LocPrf Weight Path
192 16G3.102.0 192.168.101.18 80 0 64517 1
' 192 .168.101.14 80 80 0 64516 i
g 192.168.101.10 0 64515 64515 i
o 182 168 101 2 d2 B8 645130
* 192 168 101.6 a0 0 64514 64514 |

Which IP address becomes the active next hop for 192.168.102 0/24 when 192.168.101.2 fails?
A. A-192.168.101.18B.192.168.101.6C.192.168.101.10D.192.168.101.14

Answer: A

NEW QUESTION 91
Which feature does Cisco TrustSec use to provide scalable, secure communication throughout a network?

A. security group tag ACL assigned to each port on a switch

B. security group tag number assigned to each port on a network
C. security group tag number assigned to each user on a switch
D. security group tag ACL assigned to each router on a network

Answer: B

NEW QUESTION 96
Which two operations are valid for RESTCONF? (Choose two.)

A. HEAD

B. REMOVE
C. PULL

D. PATCH
E. ADD

F. PUSH

Answer: AD

NEW QUESTION 97
What are two common sources of interference for WI-FI networks? (Choose two.)

A. radar

B. LED lights

C. rogue AP

D. conventional oven
E. fire alarm

Answer: AC

NEW QUESTION 101
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